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Bapiant 1
I. Translate the following words and phrases into Ukrainian (A) and into English (B) (20 scores):
A.
1. Plant uptake 6. Walled cells
2. Chemical units 7. Inadequate food
3. Disease-causing agents 8. Substantial progress
4, Organic matter 9. Contractile tissue
5. caloric deficit 10. Economic feasibility
B
1. 3aUIIKY NECTULINIIB 6. KopucHi pedoBuHU
2. 3a0pyHEHHS IPYHTY 7. Komn’torepHa cxema
3. Bupo6HuuTBO XxapuoBoi mpoaykmii | 8. [Tocynuimsi 3emiti
4, KnitnaHa cTigka 9. Crani repOinuau
5. XiMiuHe pO3UIeTIICHHS 10. CLTBCHKOTOCTIOAPCHK Ui
LIKITHUK
I1. Match nouns in the column A with their Ukrainian translations in column B (11 scores):
A. B.
1. Absorption A doToposmaj
2. Leaching B IMecTununmn
3. Flagellum C [TornmuHaHHS
4. Protoplasm D JxryTHK
5. Pesticide E Kauriit
6. Photodecomposition F BuyroByBanHs
7. Evaporation G HaxonmdeHnHs
8. Alga H [TpoTorurazma
0. Potassium I Henoimanus
10. | Buildup J BonopicTs
11 | Malnutrition K BunapoByBaHHs
I71. Match verbs in the column A with their Ukrainian translations in column B (9 scores):
A. B.
1. to suffer A 3aJIMIIATHCS
2. to duplicate B BKONYBAaTH (B TPYHT)
3. to establish C opartu
4. to obtain D [MO/IBOIOBATH
5. to contribute E HOJINIIYBATH
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6. to remain F CIPHUSATH
7. to cultivate G noTepnaTu
8. to improve H BCTAHOBJTIOBATH
9. to work into the soil I CIIOXKUBATH
I

V .Translate the sentences into Ukrainian (25 scores):
Use is made of some powerful explanatory techniques.
Of special interest should be the first article in Chapter 1.
He may have stopped his experiment.
To see their role in science is an aim worth pursuing.
A brief discussion of some examples taken from Table V11 follows.
. Translate the sentences into English (25 scores):
Xou kUMM O MaJIUMU He OyJIM MOJIEKYJIH, 1X MOXHA PO3IIECTIUTH Ha 111€ MEHILI YaCTKH.
BaxxnuBo, m06 Teopis Oyna J0CTaTHHO OOIPYHTOBAHOIO.
To Oynu numie nepuri KpoKu bOTO BHIATHOTO BYEHOTO.
Bynapb-skiii rinoTesi 3BMUaiiHO MepeyoTh KiIbKa 1HIIMX MOB'I3aHUX 3 HElO 11eH.
€arHe 00MEXEHHS MOJIATaE B TOMY, 1110 BOHHM MOBUHHI OYTH TOTO)KHUMHU.
V1. Determine the kind of grammatical phenomenon in the predicate, which may constitute
difficulty in translation (5 scores):
1. No mention is made of his earlier work on the subject.
a) compound modal predicate b) compound nominative predicate c) passive form of the verb d)
phraseological predicate
2. The real issue is whether or not we can raise this question.
a) simple modal predicate b) predicative clause ¢) passive form of the verb d) phraseological predicate
3. The point may still seem a trivial one.
a) compound modal predicate b) compound nominative predicate c) passive form of the verb d)
phraseological predicate.
4. This assumption may appear unsound.
a) compound predicative clause b) compound nominative predicate c) passive form of the verb d)
phraseological predicate.
5. One important issue to remember is that real air speed must be very high.
a) compound predicative clause b) compound nominative predicate c) passive form of the verb d)
phraseological predicate.
VII. Determine the kind of grammatical phenomenon in the subject, which may constitute difficulty
in translation (5 scores):
1. There is much that is right in this account.
a) formal subject b) indefinite pronoun c) gerund d) anaphoric pronoun
2. One can hardly disagree with this research strategy.
a) formal subject b) indefinite pronoun c) gerund d) anaphoric pronoun
3. That is what Smith refers to as sharing.
a) formal subject b) indefinite pronoun c) gerund d) anaphoric pronoun
4. While solving a number of problems, the new one creates a few others.
a) formal subject b) indefinite pronoun c) substituting pronoun d) anaphoric pronoun
5. To consider a third case is equivalent to deciding this question
a) formal subject b) indefinite pronoun c) substituting pronoun d) infinitive

agrodDEREIOR~ONOE



